H & 0l & AHS B Ml A

FA FEHEX B
I3 MAHEFE FolEe) &5
el L2 FFEd 24 (Gt H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
FEEXI0 9,586,341 10,082,976 1496,635
= 1,477,937 1,477,937 0
Il 110,000 110,000 0
= 331,539 331,539 0
z 7,666,865 8,163,500 A4%6,635
MAAE S FoiEe) =2 8,004,374 8,501,062 N496,688
= 302,207 302,207 0
Il 110,000 110,000 0
< 183,775 183,775 0
i 7,408,392 7,905,080 1496,688
N2 FF83 24 6,502,754 6,714,500 A211,746
= 22,800 22,800 0
Il 110,000 110,000 0
T 159,340 159,340 0
= 6,210,614 6,422,360 A211,746
SSFH N2 AL 85,000 9,000 10,000
402 212HXH201H 80,000 90,000 10,000
01 QIZENH2 AL 2 (RERITH ) 80,000 90,000 A10,000
O3SFH 2N SXRA (XHA) 80,000 90,000 10,000
QEIHINHE 8 29 70,000 70,000 0
401 AlZHIL 2] 0 70,000 AT70,000
01 Al 0 70,000 AT70,000
Oy ZgAE =8 9 0 70,000 A70,000
403 MXISHHS 201N 70,000 0 70,000
02 S| 2SS S AN 70,000 0 70,000
ogldgdiA= =g 24 70,000 0 70,000
24E SSAUFE 28 7RI 1,498,254 1,700,000 A201,746
401 AlZHIL S CHY] 1,498,254 1,700,000 A201,746
01 AlZHI 1,498,254 1,700,000 A201,746
Oz SSZU=E 2 1,498,254 1,700,000 A201,746
ga SSYUFH 2HE A 3,930,000 3,930,000 0
401 AlZHIL 2] 3,930,000 3,930,000 0
01 Al 3,925,000 3,930,000 5,000
Ogd SSAUFE FX0H| 3,925,000 3,930,000 5,000
03 Al = CHtl 5,000 0 5,000
OYd SSEUFE X0 5,000 0 5,000
AF0I5{ 0t 23,365 26,365 3,000
WalRAs A=Y 23,365 26,365 3,000
201 LetEaY| 23,365 26,365 3,000
01 At2teltl 22,100 25,100 3,000
OASAMUBASZS YA & BALT
FTE 250,000 #4824 12,000 15,000 3,000
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FA FEHEX B
I3 MAHEFE FoiEe) &5
=?el FeEY JHAE 29 (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
FElEe &y 24 1,011,345 1,218,025 A206,680
= 232,01 232,011 0
=S 9,281 9,281 0
= 770,053 976,733 206,680
NHBREE MAsA 29,740 32,700 12,960
207 A E] 15,480 17,200 A1,720
02 HA&DIHEH] 15,480 17,200 21,720
OXHZRHe| MASA 15,480 17,200 21,720
—NHSZUE ALY 10,800 12,000 A1,200
—EX0ISZ2AN HASAIY 3,600 4,000 A400
—HOFMIR AT MASIALY 1,080 1,200 2120
401 AlZHIL 2] 14,260 15,500 A1,240
01 Al 14,260 15,500 A 1,240
O=IDIEE LH=A 29 14,260 15,500 A 1,240
NHsF del 22 87,568 90,363 12,805
201 Ler2aY| 28,125 30,930 A2,805
01 Ab2teltl 27,465 30,270 2,805
ONA=+ & UASSE S 0 1,650 21,650
OXHEZNE 22 Held 7Y 0 1,000 1,000
OXF2E =MLY 345 500 A155
KIETHZEAALS 662,036 862,951 A200,915
< 9,281 9,281 0
i 652,755 853,670 A200,915
201 Ler2aY| 77,569 78,372 A803
< 9,281 9,281 0
= 68,288 69,091 A803
01 At22tell 67,649 68,452 803
OXIEMZEAL NFIIE=E 0Ll 3,289 4,002 803
301 LEEX S 500,000 700,000 200,000
HOEBEd= 500,000 700,000 200,000
OXEMEAANY 2= XIS 500,000 700,000 200,000
308 ARISHMSOIE 84,467 84,579 A2
N SI2SH U SN A A 84,467 84,579 A2
OHMIAISXIA EHEHE ALY 84,467 84,579 A2
N2 5 370,091 421,877 Ab1,786
= 15,154 15,154 0
z 354,937 406,723 Ab1,786
CEREFAAEY 182,510 226,510 44,000
201 LetEaY| 11,080 15,080 24,000
01 At 2teltl 10,600 14,600 24,000
OF2Z2AE= 728 & Y 5,000 9,000 24,000
401 AlZHIL 20 110,000 150,000 40,000
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A FEEXL
M WAHEE FEH &2
&t NEE2EE 2= (EEEE))
SA - B BR(S) - HRAY - BAS o v o H o HmS2
01 Al&HI 110,000 150,000 /40,000
OkzEHF4A S2E RUFE £IAMY 110,000 150,000 40,000
CREHFAMNA(ER) 79,890 80,100 A210
< 15,154 15,154 0
= 64,736 64,946 210
401 AIEHIZL 20 79,890 80,100 210
< 15,154 15,154 0
= 64,736 64,946 210
01 Al&HI 79,890 80,100 A210
O=IIKEHS T X2t 11,790 12,000 A210
= 2,897 2,897 0
= 8,893 9,108 A210
EXNSEEHBANAE 29 87,731 95,267 AT7,536
201 Lt 87,731 95,267 AT7,536
01 At22telbl 25,422 26,104 682
O=EZE g2 RAUSIIN(EE) =ZZ
=1 6,818 7,500 ABB2
02 S22l 62,309 69,163 26,854
ORSUESESRAIAE RN 33,778 3,316 24,538
OBAUEESHHACIANAE X2 19,800 22,000 N2,200
O=EZE g8 RUSII(EE) 2&0t
& 384 500 A116
FSiARA 018SI| SEXXE HRF 19,960 20,000 240
207 AR 19,960 20,000 240
02 MADHLH] 19,960 20,000 240
OFSLERY JIES Hats Al
19,9600H+1,000& 19,960 20,000 240
E5 Atz FEM3 9,819 120,295 N23,476
= 47,3% 47,3% 0
= 49,423 72,89 N23,476
IHESAIXIOE AR &Y 9,819 120,295 N23,476
= 47,3% 47,3% 0
= 49,423 72,89 N23,476
101 2124d| 9,257 35,200 125,943
= 9,256 14,080 4,824
= 1 21,120 ~21,119
04 JIZtN2Z2XsSE+ 9,257 35,200 N25,943
OIMNESAIXIOL ZAF Q124 9,257 35,200 N25,943
= 9,25 14,080 24,824
s 1 21,120 A21,119
201 L2 83,562 81,09 2,467
= 36,540 31,716 4,824
= 47,022 49,379 n2,357
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ZSEX D
WARAEY FoIpo &0
Hatst 2SN F2HB

FA - FE - SRA(3H) - MRAE - B I8N
01 AtR2telbl 83,562 81,095
OMNEZAXIL HdE=2 64,747 67,104
—==Al2 11,238 13,59
= 5,438 5,438
i 5,800 8,157
OMESAIXIIL ZAL 2L 8,800 3,976
= 7,185 2,361
T 1,615 1,615
HReS(F=HEXN) 51,885 51,832
BEX=E 51,885 51,832
22Xz e 51,885 51,832
802 Btet=DIEt 51,885 51,832
01 =12x=ttet= 37,149 37,0%

020228 XIEMMEZAAY =102X= 0IA+ 8t

=1 53 0
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